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2N NRIISY
I HASISHA PE(DS/TM - WD)
el BAsis 243t (el & L)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
OAE&HIR XY 7,000,000& *14] 7,000
OXE |Xl&eldl 500,000 x10& 5,000
oAU 47,198,000& 14 47,198
401 AU 24| 150,000 150,000
01 Al&H| 150,000 150,000
OBMSST FNE Tl Al
150,000,000 * 14l 150,000
DMstE S0t2l 243 XJALY 29,000 29,000
201 et AH| 3,000 3,000
01 AF222| 8| 3,000 3,000
ONsII8 E23 89 M=
100,000& * 151 +23] 3,000
301 LEtEBNZ 26,000 26,000
11 HAFAHI X2 3,500 3,500
OMsIIR S0tdl &=l
10,000 x50 H *53| 2,500
Os0tel 23 ZAlH|
8,000 *25H +53| 1,000
14 J|Et 2 A2 22,500 0 22,500
Os0tel 2AMz
100, 000& *15A1 2H+ 1500 A 22,500
KOb.=. S NSEX 5 (WUS/RUYEESUR) 2,381,939 2,022,611 359,328
= 9,710
== 506,796
= 1,865,433
R0t.=. 5 UE=EX E= 2,381,939 2,022,611 359,328
= 9,710
= 506,7%
= 1,865,433
(e .2 .58) N 1,154,767 915,825 238,942
201 LBt AH| 1,400 3,500 N2,100
01 AF222| Y| 1,400 3,500 A2,100
OStNSAAOIR RG] HAELSH
70,0002 %10H 23] 1,400
202 (48| 2,000 2,000
01 2LH0Y| 2,000 2,000
OuW=AA A2 =& ¢l
100,000 x2H * 103 2,000
308 XX SHHSO0IA 1,151,367 910,325 241,042
07 XAXI S22 REEZ 33,679 44,395 AN10,716
O3 WAL XA 19,125,000 & 14! 19,125
Ol g s K&
14,553,900 & * 14 14,554
08 WRI|Z0CHstE = 1,000,000 750,000 250,000

-302-




)

=

Ok

=

3 cl(el8 1S e|e 8 8 8 N N N
N~ () o — — — AN [a\] (aN]
o d s |8 g < < <
Klo < T B -
=
o
o
g (B8 g g|8 i i i & S &
%) ol Ne) pay pay — %e) Y] %e)
war [ T 8|8 B ¥ B 2 8 . . .
mzl
RIS
88 g|g|8|8 88 88|88 8 SI¥LLIILEY g2 8§88|§288|§283|§ §
S 9|g|g|e &5 & 3|88 © S|8N ® QoM © ©|N S S o S I A = S B A B s A
g= =|g|8|®8d8 USR8 8 SIS FFEEEE §EgEg sy 2
w_u"rﬁ — — — —
<
S
WH WH W H mr W n MW
T o T O F r o o
W W W % Y T W W
o ] i T ® W oL o i
w18, 8 g &8 g § g g g
0
m [Ew 8 g 8§ g § < g 2
. o Kl N~ Te) 0 o o o N~ oF © o
S e eV} A ® o>} ™ o — © 0~
| > RO © = =
= — I Z
< b <l a
Ik = . gl =
= ol 20 i _
. il i - & ior - T
= ur o W Wz (W KR o = o
S D . =4 o - |RO H - Ed Ky
G or 50 K gl = 2 = o g 0 20 =
= |® 3w | = 0 iy [ = R 0 Bl 3 o
F |z . = e = _ 7 o |3 w | = S ¥ o o <
ol _ I+ %0 Hlolo X D @ wls = _ o ulo S o oll =
A = = - I st L =3 NN S = (A = A - = i %0 1D
= [F0 ™ orob|d B oop® Al@s ® 0 x |M U ~ R0 RO 2 =) RO U
s o . = | |or I =< o 0 = [or o0 Ul B = o oy o) 3 2 2 ulo
xOMMm %%MM@% %ﬂm% z for 2 = K K 10 o) m_m
. == | = o © 0l © © i N~ o\
z [ B AT g8 2 8 8 i 8 =
Ik 30 Ho K

-303-



2A: DEIIED
M RO0L.x=. TS US=EX E5(US/ROLEESUR)
& R0L.=.58 UEEX &3 CEREED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
= 9,710
& 2,920
o 6,790
A=K ST(AE=EX/E=S - IIFLAHY) 1,392,726 1,694,136 A301,410
= 416,580
J| 271,541
= 173,512
o 531,093
A AtIEO S& 391,990 464,891 AT2,901
= 162,507
| 11,564
& 68,761
= 149,158
e &M 2F 12,200 10,200 2,000
201 LBr2AY| 6,200 4,200 2,000
01 AFF 22l 6,200 4,200 2,000
OYHEBESUH3 =24|
2,200,000 *13] 2,200
OLEJs 22ZH|
1,000,000& 23| 2,000
OZZFUL W (OtSHLEAMXAAEZH)
1,000,000& 23] 2,000
202 Ot 1,000 1,000
01 =LHOIBI 1,000 1,000
OHLEM HRFA 100,000 %103 1,000
301 LetENZ 5,000 5,000
11 HALABIXI RS 5,000 5,000
QUHAESXEN s Y AL HAXF XA
50,0003 *20H +53] 5,000
HAEHEs 29 K& 19,512 19,512
307 2I2H0| N 19,512 19,512
03 QIZHEHXNHE2EHIE X 19,512 19,512
O MEHHMAES 21Adl K& 17,712
OJlga (F=25A12H
1,200,0002* 1= 12& 14,400
OE&=z 130,000 x1H * 123 1,560
CEIR=EZ 1,200,000& =1 1,200
Ocxt=< 46,000 * 12 552
OW&EHME 2 22| XI&
150,000 = 1291 & 1,800
MHEH XI&E2Y 26,814 45,815 19,001
= 13,407
= 2,681
= 10,726
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M NEIIFW
HH: HESX SE(AE=SR/ES - IHELAHS)
Sl Ol AIBIEO BR (o9l 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
201 LBt2AY| 26,314 32,815 26,501
= 13,157
= 2,631
o 10,526
01 AtR2teldl 26,314 32,815 26,501
OMLHEH 2gH| 11,500,000 * 14 11,500
= 5,750
T 1,150
= 4,600
o429l 14,814,000 * 14 14,814
= 7,407
& 1,481
= 5,926
301 LetENZ 500 8,000 AT,500
= 250
= 50
= 200
11 HAFABIXI RS 500 0 500
QMY HIE SHAHAIH] 250,000 23| 500
= 250
= 50
= 200
M HIE Atz2te| 19,000 0 19,000
= 9,500
& 1,900
= 7,600
201 Bt AY| 7,200 0 7,200
= 3,600
& 720
= 2,880
01 AfR2teldl 7,200 0 7,200
QAt=2te| 24| 7,200,000 %14 7,200
= 3,600
& 720
= 2,880
301 YLENZ 6,800 0 6,800
= 3,400
= 680
= 2,720
11 HAFABIXIRZ 300 0 300
OAr=2te| AtAl| 300,000 * 14! 300
= 150
= 30
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S2X ZSE(AIRIZEX/ES - IIELUHA)
& MEEN SH CEREED)
K- B8 a2(3) - HSAY - BA2 ﬁlﬁg HRS2
= 120
14 J|EtE2 A2 6,500 0 6,500
OAZE 22| Z2AE 6,500,000 *14] 6,500
= 3,250
T 650
= 2,600
402 RI2EXHE01 M 5,000 0 5,000
= 2,500
= 500
= 2,000
02 SIZIXHEAHE X (0|1™THL) 5,000 0 5,000
OAZ 2] JIEAMN LA
5,000,000 *14] 5,000
= 2,500
T 500
= 2,000
gungsEd T2 & 94,000 4,000 0
= 94,000
201 etEAH| 48,000 48,000 0
= 438,000
01 AtR22|bl 438,000 48,000 0
oNgnsEY 2|
48,000,000 *14] 43,000
= 48,000
301 Leted = 45,000 45,000 0
= 45,000
11 HAFAHI X2 10,000 10,000 0
oNUIIBH MAIAY]
125,000 «80H 10,000
= 10,000
14 J|EtE2 A2 35,000 35,000 0
OXguUEEdH 2AS
30,000,000& 14 30,000
= 30,000
ONNREY AE SAE
5,000,000& *14] 5,000
= 5,000
307 2I12+0| A 1,000 1,000 0
= 1,000
(== 1,000 1,000 0
OXYuUREH EES 12,5002 +80H 1,000
= 1,000
QHMHOIEH XA 57,000 66,800 N9,800
= 45,600
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2 DEIIED
Hz: H=EX SE(AMSX/ES - IISLHA)
o2 oA AIZIEN S CEREED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
& 2,280
= 9,120
301 YetE X2 57,000 66,800 A9,800
= 45,600
& 2,280
= 9,120
01 AIBIBE M LHZS(ZDEXTHE) 57,000 66,800 N9,800
OHAEAMLIEHAH 3,800,000& *15H 57,000
= 45,600
= 2,280
= 9,120
HEUAHWAF IR (A HANSTIZOB2H) 11,564 11,564 0
J| 11,564
201 LEtEAH| 5,564 5,564 0
J| 5,564
01 AF22l8I 5,564 5,564 0
oZzIy Ysedy|
5,564,000 =14 5,564
J| 5,564
301 Lete N2 6,000 6,000 0
J| 6,000
11 ALK 2 4,000 4,000 0
Om2IHSHE A
3,000,000& * 14! 3,000
J| 3,000
QI )SHEDIXL Hl
10,0002 *108 *103] 1,000
J| 1,000
14 J|Et 2 A2 2,000 2,000 0
02AF ZAZ 200,000& %102 2,000
Jl 2,000
JEOUAEN Y PAES EEXJ 91,900 182,000 A90, 100
& 61,900
= 30,000
101 @124d| 28,600 22,000 6,600
& 28,600
M4 IItMZ2E2XNSEs 28,600 22,000 6,600
ORRBENAI oI
2,600,000&x1H*11& 28,600
== 28,600
201 &Bt2AH| 3,300 10,000 6,700
= 3,300
01 AF222|H| 3,300 10,000 6,700
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2 DEIIED
Hz: H=EX SE(AMSX/ES - IISLHA)
o2 oA AIZIEN S CEREED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
OAYETTY 2|
3,300,000& 14| 3,300
= 3,300
301 Lete X2 60,000 150,000 A90,000
= 30,000
= 30,000
01 AISIEEMAHS(2DEXTHE) 60,000 150,000 A90,000
OFALTOIY PHES A3
500,000& x20H +6E 60,000
= 30,000
= 30,000
e SACIE € & 60,000 60,000
401 A& HIL 2B 60,000 60,000
01 Al&HI 60,000 60,000
OZXSIHEAIAF LA
60,000,000 *14] 60,000
SR XI& 210,218 238,690 N2B,472
J| 148,174
T 23,522
= 38,522
SIRE Ots2=Hl S XA 185,218 208,940 N23,722
Dl 148,174
& 18,522
= 18,522
301 Lete X3 185,218 208,940 N23,722
J| 148,174
& 18,522
= 18,522
01 AIBIEEMAHS(2DEXTHH) 185,218 208,940 N23,722
O Ots2¢=FHl & AJAH
200,000& %77 174 12& 185,218
J| 148,174
= 18,522
= 18,522
NAS StRE201E MEotd T 25,000 29,300 N4,300
= 5,000
i 20,000
301 Lete X2 25,000 29,300 24,300
= 5,000
= 20,000
01 AIBIBEMAHZS(2DEXTHE) 25,000 29,300 A4,300
OxSstd st Xl3|
50,000& *22H *x23] 2,200
& 440




X ZH -
S/

| (MBIEX/ES - IHEL0E)
e I (etel: &)

e

S9l:

M 1
of

—

= = = Jd L
S - B OR(B) - HSAY - BAS 04l kol e tlimE=]

HJ

1,760

1,700,000 +6E 13l 10,200
2,040
8,160
odgei=HI 350,000 +36E * 13! 12,600
2,520
10,080

M

UG

242018 - U2t XIE 790,518 723,635 66,883
254,073
111,803
81,229
343,413

&

M H

oolE=X1& 362,961 311,600 51,361
254,073
21,777
87,111

MW

301 LEtE NS 200,000 150,000 50,000
140,000
12,000
48,000

Moo

01 MBI EEHSEIS (2 DEERTHR) 200,000 150,000 50,000

jun }
50;00,000%*1]H_/.\_*4—‘.i'—3| 200,000
140,000
12,000
48,000

oW

307 BIZtoI N 162,961 161,600 1,361
114,073

9,777
39,111

HH W

11 A SXIAIEE X 162,961 161,600 1,361

40,740, 2503 x1JH %42 D 162,961
114,073

9,777
39,111

H HH

A20tE & UESIIEXNJHE 2L (2 5HI) 148,360 152,360 4,000
74,180
14,836

59,344

tol
S

HH

307 BIZtoI ™ 148,360 152,360 24,000
74,180
14,836

S

H
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2A:

DRIEW

I o= SR(MISX/PS - IEL0I4)
Sl AN - 2EIIE X (crel: 2
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
= 59,344
10 AISI S XA EEHAESIHIE X 148,360 152,360 A4,000
OLURIIEHE 2H(CI0IS AMY ZEH
37,090,000& 1 H A *4Z2 D | 148,360
J| 74,180
T 14,836
= 59,344
AAIMAE L ORSIIEXKAHE 29(EHIEX) 159,900 152,600 7,300
== 31,980
o 127,920
307 2I12+0| A 159,900 152,600 7,300
= 31,980
= 127,920
10 Al SXANEEHE2IHIE X 159,900 152,600 7,300
OYUZIIFHEH 2S(THIZX)
39,975,000& %1 M A +42 0| 159,900
T 31,980
= 127,920
CH2SISSIAIE (HE20 R AHIA) 55,246 54,336 910
J| 27,623
= 5,525
= 22,098
307 QI2+0| M 55,246 54,336 910
J| 27,623
& 5,525
= 22,098
11 AISI2XAIEE X 55,246 54,336 910
ONEHY=E & HHME S U2uSMEIA
X 13,811,500 * 1 A *4FZ D | 55,246
J| 27,623
= 5,525
= 22,098
Ch2shtEs Y2 S AF HRHA 2,456 3,684 N1,228
L= 491
= 1,965
307 21201 A 2,456 3,684 N1,228
= 491
= 1,965
10 AISISXAIEEHES2IHIE X 2,456 3,684 N1,228
OUE3IE S2USATAF HRMA
614,000 * 1 A +42 0| 2,456
= 491
= 1,965
Z220/9X LS A 20,000 15,500 4,500
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2A:
R
(=

S9l:

DRIEW
OA=SX ST(AEBISX/ES - IIFLHY)
A2 - URsis A

(etel: &)

S - B OR(B) - HSAY - BAS

Ofl ot

rS[El=
PET

—

HwS2!

S

EUNCY

10,000
2,000
8,000

307 glzZHo| &

S

A

20,000
10,000
2,000
8,000

15,500

4,500

11 AR SXIAI E X
OZE0I2X A22ASARA (B2 LF)
5,000, 000& * 170 2 #4&2 J|

~

M H

20,000

20,000
10,000
2,000
8,000

15,500

4,500

Y
T
o
e
|
0z
fol
2
HN
o
=
18]
pal
0

A H

1,435
288
1,147

2,400

N9B5

307 glzHo| &

HH

1,435
288
1,147

2,400

A965

11 AIBISXIAIE 2
OZE0I2Xt &S BEE A XA
368, 750& * 1 %42 0|

M H

1,435

1,435
288
1,147

2,400

A5

AIHIRIS] & DI S~ AL

M

1,900
380
1,520

1,900

307 glzto| &

A

1,900
380
1,520

1,900

11 AIBISEXIAE 2
+

OANIAHIISl & JISAH It
47,5002 40 *13]

M

1,900

1,900
380
1,520

1,900

CtEst e et=2stsXl X3

M H

3,200
640
2,560

2,93

265

307 glzto| &

H

3,200
640
2,560

2,935

265

11 AIBISXIAE E X

OU==IIENA e=2u=s X
,000& 100 %42 0|

8

3,200

3,200

2,93

265
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2A:
R
(=

S9l:

DRIEW
HA=SX SE(AEBISXN/ES - IS
A2 - URsis A

o4)

e

(etel: &)

S - B OR(B) - HSAY - BAS

Ofl ot

rS[El=
PET

—

HwS2!

Mo

640
2,560

MEISTIAE (S22 ItEH

o
O
>
bl
Il
Pl
n
on

M H

10,560
2,112
8,448

11,520

2960

307 2I2+01 A

EUR

10,560
2,112
8,448

11,520

A960

880,000 *12&

M

10,560

10,560
2,112
8,448

11,520

A960

18,500

14,800

3,700

o
o
ng
<

i | M
o
H
il
Ao
-
0
=
=
T
9

w
=

o
HL
Bl

=

18,500

14,800

3,700

&
>.
ton
HT
0z
Jx| oy
1>
=1l
ol
]
s
=
40

oC

o
ton
O
J
0
W
0
M0
>
0

3,700,000 & x5t

18,500

18,500

18,500

[m]
Mo
ol
>~
HO
&
Jn
pal
o

A

6,000
1,200
4,800

6.000

307 212+ol A

A

6,000
1,200
4,800

6,000

HH

6,000

6,000
1,200
4,800

6,000

&

HH

9,348,916
3,084,916

8,400
3,363,724
2,891,876

9,280,925

67,991

EIAME 0ts X

MW

2,327,890
1,059,545
976,418
291,927

2,037,170

200,720

HoH W

716,749
465,887
125,431
125,431

204,423

512,326

[y

301 2et2d

r
oy

H

716,749
465,887

204,423

512,326
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fA:
R EH -
=Rl

el

tal=XI/2= - O1E
|

e

o4)

(Er9:&8)

SN - FB - BR(S) - HISAR

EHAS

Ofl ot

HEE
Off &FoH

—

HwS2!

Mo

125,431
125,431

=
=

Fus
~

716,749,000& *14]

H H A

716,749

716,749
465,887
125,431
125,431

204,423

512,326

Moo W

76,160
49,504
13,328
13,328

225,954

A149,7%4

301 LEENZ

Mo

76,160
49,504
13,328
13,328

225,954

A149,7%

76,160,000& * 14!

HoH W

76,160
76,160
49,504
13,328
13,328

225,954

A149,7%

oW

836,852
543,954
146,449
146,449

939,005

A102,153

O W

836,852
543,954
146,449
146,449

939,006

A102,153

836,852,000 * 14!

H H1 W

836,852
836,852
543,954
146,449
146,449

939,005

A102,153

M H

8,4%
2,549
5,947

4,758

3,738

HH

8,4%
2,549
5,947

4,758

3,738

8,49%,000& * 14!

8.,4%

8,4%

4,758

3,738
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2A:

P<EIF T(ABISXI/BS - IHELA)
&2 BFAL Ol K& (He|: A 2)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
& 2,549
= 5,947
Feltd 82X 688,393 661,206 27,187
T 688,393
301 Lete XM= 530,880 502,320 28,560
= 530,880
01 M BEELHS(2DEXTME) 530,880 502,320 28,560
Oy B2
280,000 *158H « 1201 & 530,880
& 530,880
307 QI2+0| N 157,513 158,886 N 1,373
= 157,513
10 AISISXAEEHESIHIE X 157,513 158,886 N1,373
Oty gt JHNBHy|
157,513,000 * 14! 157,513
= 157,513
22 DLIHEHY 2E X2 400 564 AN164
= 200
& 100
= 100
201 LBt2AH| 140 104 36
= 70
= 3b
= 35
01 AtR222|bI 140 104 36
OR2 2LIHE S 2HH|
140,000 * 14 140
= 70
& 35
= 3H
301 LeteE N2 260 460 A200
= 130
= 65
= 65
11 HAFAHIXI RS 160 160 0
ORE ZLIHHEE WFHY|
40,0003 x2H 23| 160
= 80
& 40
= 40
14 JIEIE A= 100 300 A200
232 ILIHEC g5h|
50,000&x2H*13| 100
= 50
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2A:
I‘I ZH
C,l»ol :

WFIHEEM
OF%%II S(AIZ
SAE ot A

f kO_
.|10
o
I
b=

=
0x

(etel: &)

2A-F3H - S2(3) - MRAIY

B4 il ko

rS[El=
PET

—

HwS2!

25
25

Mo

840
168
672

M H

1,260

A0

840
168
672

EUR

1,260

AN420

) 840

105,000 +8&H 840
168
672

M

1,260

AN420

=

XIAIEX2

2,191,986
892,535
516,892
782,559

MW

2,382,341

190,355

OlZlold XIg(=20)

29,120
14,560
7,280
7,280

EURECR ]

36,800

AT7,680

307 gIzHo| &

29,120
14,560
7,280
7,280

oW

36,800

AT7,680

22X

10 IS XIAIEHE
OsHEXMN Baloold X

40

23,720

3,000
1,500
750
750
20,720
10,360
5,180
5,180
5,400

3,000,000 14!

HH W

20,720,000 *14{

HH A

5,400
2,700
1,350
1,350

5,400,000 14!

HoH W

28,800

8,000

25,080

22,600

25,000
5,000
20,000

M

20,950

4,050
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SA BIEIEM
FM: ols=X SX(MESER/ES - O
&el: OISSXAEXZ

o4)

e

(etel: &)

S H - BR(S) - MSAY - B2 ol by e MmE=}
307 Q1201 & 25,000 20,950 4,050
= 5,000
= 20,000
02 DIZIEAAIHE X 11,800 10,900 900
O el0lE Hitetd] 600, 0002 *90H A 5,400
= 1,080
= 4,320
OXEXE UHEI0IE WIHmTPHI
6,400,000 *14] 6,400
= 1,280
= 5,120
10 AlSISXAIEEE2IHIB X 13,200 10,050 3,150
OSSN0 =cl& 2lAY|
6,600,000 =200 A~ 13,200
& 2,640
o 10,560
02018 XIFRFUl XS (XM=t 33,600 40,800 AT7,200
307 BI2+0| & 33,600 40,800 NT7,200
10 Al S XA E2HHIEX 33,600 40,800 NT7,200
ONel0lE XzmSHl K& 33,600
OB0HO0I A AlA
500,000&*3I0 %1290 & 18,000
O30H~49Y AlA-
300,000& *3I) 2% 1200 & 10,800
O30 0|8 AlA
200,000& =200 A*x 1200 & 4,800
02l018 Egst=d| XIS (XM= 108,000 108,000
307 21201 M 108,000 108,000
10 Al SXIAIZEE2IHIE X 108,000 108,000
O0elold sgesH| XA
50,0003 *180H 120 E 108,000
208 =-2tald] K2 (KM= 33,000 33,000
307 21201 A 33,000 33,000
10 AFSISEXANEEE2IHIBX 33,000 33,000
O0Nel0lE =-2taldl XI&A
4003 *330F #2504 33,000
228 201X XIS (HEAIS) 62,000 62,000 0
= 46,500
= 15,500
307 212+0| A 62,000 62,000 0
= 46,500
= 15,500
10 AISI S XA EEE2IHIB X 62,000 62,000 0
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A wSItED

I OS2 S(MEISX/LS - IHEL0I4)
o2l OtE=XAIEXA (He|: A 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
03328 HelolE X
62,000,000 =101 2 62,000
& 46,500
= 15,500
SRR olAdl K& 1,395,445 1,568,754 A173,309
= 697,721
& 348,862
o 348,862
307 2I12t01 N 1,395,445 1,568,754 A173,309
= 697,721
& 348,862
= 348,862
10 AIZISXAEHE2IHIEX 1,395,445 1,568,754 A173,309
O3 - HIORI0IE
854,083,000& * 14 854,083
= 427,041
& 213,521
= 213,521
OZGOtMEAHE0IE K&
278,616,000 14 278,616
= 139,308
& 69,654
i 69,654
O sto HEE AME ESWAL
3,863,000 *14] 3,863
= 1,931
& 966
= 966
OZHotsE M 0IY XN&A
258,883,000 14 258,883
= 129,441
& 64,721
= 64,721
B o12AH| X (XM= 43,200 37,200 6,000
307 2I2tol A 43,200 37,200 6,000
10 Al SXANEHE2SHIEE 43,200 37,200 6,000
OB=xuAE )25 X 43,200
02404t 30,0002 *20H 1204 7,200
Obd 0] &t 50,0002 +60F * 1201 = 36,000
Helold A MR X 47,600 39,240 8,360
T 9,520
= 38,080
307 2I12t01A 47,600 39,240 8,360
& 9,520
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A wSItED

Hz: OlS=EX S (AMSX/ES - IISLHA)
&2 OISSAAIEXA (He|: A 2)
S H - BR(S) - MSAY - B2 ol by e MmE=}
= 38,080
10 Al SAIAIEEE2IHIE X 47,600 39,240 8,360
O&F0IXE Hel 0l EFWAF HRIMAH]
100,000& *8H* 120 & 9,600
& 1,920
= 7,680
QOIRI0IE FEAY
100,000 x88H 23] 17,600
= 3,520
2 14,080
ogote SE4g XL
40,0002 x40Y * 120 & 19,200
= 3,840
2 15,360
OFOKO ORI0IT BFDAF =8
1,200,000 *1H 1,200
& 240
= 960
oelold 2xoled dxtel X2 46,200 59,400 A13,200
& 9,240
i 36,960
307 21201 A 46,200 59,400 A13,200
= 9,240
= 36,960
10 Al SXIAIZEE2HH B 46,200 59,400 A13,200
ooeloly 2xol= dXiel X&
550,000 %70 A= 1200 46,200
= 9,240
= 36,960
B=0A2 HME X 135,674 391,356 N255,682
= 67,836
= 33,919
= 33,919
307 BI2+0| & 135,674 391,356 N255,682
= 67,836
& 33,919
= 33,919
10 Al SXAIEEE2IHIEX 135,674 391,356 A255,682
ORAR2LEAIN (AT LS HLDAF |
Y| =g 87,271,000& x14] 87,271
= 43,635
= 21,818
o 21,818
O=sZEES VAN EE€2E
48,403,000& 14 438,403
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M NEIIFW
T OIS ZX S(MIZX/ES - IH=L014)
o2l OtE=XAIEXA (He|: A 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
= 24,201
& 12,101
o 12,101
BRNAA(BXWAN, HHMDAH) XI& 224,836 0 224,836
= 112,418
& 56,209
= 56,209
307 2I12t0|1 A 224,836 0 224,836
= 112,418
& 56,209
= 56,209
10 Al SXAEHE2ZHIE X 224,836 0 224,836
OPFDA(AEISHS DAl Ta) X8
2,836,000 * 14 222,836
= 111,418
& 55,709
o 55,709
OUXM WAL XI & 2,000,000 * 14| 2,000
= 1,000
& 500
= 500
Oelold e ZAl St K& 1,811 1,741 70
T 362
i 1,449
307 2I2t01N 1,811 1,741 70
== 362
i 1,449
02 QIHEEAMHE S 1,811 1,741 70
O0El0IE eI H SOt X
1,811,000& 14! 1,811
& 362
= 1,449
S=AIE #HAF X (KEHIFI) 6,500 6,500
301 LetENZ 3,500 3,500
11 HALABIXI RS 3,500 3,500
OESAEBAMN BT S He HIE
50,0003 *40H 2,000
OZRe0Id SHorStiE &4 XE K&
50,0002 x249 1,200
OE=sAd 243 4L N
30,0002 10 300
307 2I2H0| M 3,000 3,000 0
11 A SXIAMRIE X 3,000 0 3,000
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2A:
R
=Taan

S9l:

DRIEW

OLSSXIAIEXIE

Ols=X S (MIEX/ES - IHF

o4)

e

(etel: &)

SN - FB - BR(S) - HISAR

EHAS

Ofl ot

rS[El=
PET

—

HwS2!

ONE0ld B AKX

3,000,000 %14

3,000

&y

Ao

921,553
130,679

8,400
126,745
655,729

910,040

11,513

HoH W

109,280
87,424
6,557
15,299

1

07,040

2,240

H H1 W

14,640
11,712
878
2,050

14,640

01 AtR2t2lHl

ocy

i
|>

OEEAEE AMR22H]

OEHAEIEALY

EtEAIY E2H]

645,000 x 1294 &

W

I
B
0
02
[

1,500,000 x14]

H H1 W

3,000,000 *14!

HoH W

2,400,000 14!

Mo A

12,240

7,740
6,192

464
1,084

1,500
1,200
D0
210

3,000
2,400
180
420
2,400

2,400
1,920
144
336

12,240

2,400

HoH W

94,640
75,712

5,679
13,249

92,400

2,240

58,5003 1208« 12&

H

84,240

84,240
67,392

82,000

2,240
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M NEIIFW
I OISZX S(MIISK/LS - IHEL0I4)
o2l MASS ots&2l (He|: A 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
= 5,055
= 11,793
11 HALABIXIAZ 400 400 0
OZ-AIEIA SA 8,000&*x50H 400
= 320
& 24
= 56
14 DBt &= 10,000 10,000 0
OE2I X VAR
50,0002 x202] * 1024 10,000
= 8,000
= 600
= 1,400
ofglole XIA(RHRIZ=IH 25,000 25,000 0
307 2I2H0|™ 25,000 25,000 0
11 ABISXIAMEE X 25,000 0 25,000
ooelole XA 25,000,000 14 25,000
OtsLLXI2AE XA 59,593 72,705 A13,112
= 41,715
& 3,576
= 14,302
301 LertENZ 59,593 72,705 A13,112
= 41,715
& 3,576
= 14,302
01 AISIEEE A6 S(2REXZMA) 59,593 72,705 A13,112
Qots¥e XI&HX K&
84, 1770359 « 12& 59,593
= 41,715
& 3,576
o 14,302
Ots34H] XI&(&hl) 532,480 509,4% 22,985
= 115,760
= 416,720
307 212H0| M 532,480 509,49% 22,985
& 115,760
= 416,720
11 M3 SXIAIE 2 & 532,480 509,49% 22,985
OYUXIANEHE BATA X2
8,000 * 11 A +50H x250 100,000
O AN H0tsHEH SAKIR
8,000 11 A +38H 247 75,088
OYLALERAXA0ISHEH SAXRA
8,000 * 10§ A +23H x247 45,448
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A wSItED
X

T OISZX ST(MIZX/ES - IH=L014)
o9 HASS ols2el (o9l 2)
DA EH B (BH) - MRAY - BAS Ofl vl e MimE=T,
OE2&0/30ISXA0ISHE SAX
8,000 * 1 A *23H *x247 45,448
OYARHOISHEH SAXA
8,000 x1JH A +23H 247 45,448
ORI IS XHO0ISHE SAKH
8,000 x1JH A x23H x247L 45,448
oYsts ots24Hl XI&
8,000& 1 110 +85 74,800
& 14,960
= 59,840
Os|s E -2 25Y ols22H AR (
EEEEER
8,000 * 1 A %120 *95 91,200
& 91,200
Osh|E Y ols24H IF(uNsHEY
2| Hl) 8,000&* 1 A*12 +100 9,600
= 9,600
KNG 0tsHE AP XIS (XM= 1,000 1,000
201 et A 1,000 1,000
01 AF222|H| 1,000 1,000
O0tS= XA SR} I
100,000 *5I A~ %23| 1,000
IIEQIE 2 =H| XIS (KIS 180,000 180,000 0
301 Lt N2 180,000 180,000 0
02 A BEMAH S (FAHS, XNLWMH) 180,000 0 180,000
OJt& 2 e 24=H| K&
500,000 «30H x 122 180,000
A0lEs =4 XA 12,000 12,600 AB600
J| 8,400
= 720
= 2,880
301 YEtBNZ 12,000 12,600 AB600
J| 8,400
= 720
= 2,880
01 AIBI BN AHS(ZDEXTHE) 12,000 12,600 AB00
OUYOE BFEZEZ XIE
200,000 x5H = 128 12,000
J| 8,400
& 720
= 2,880
2 - I AE0IS MelXla KA 2,200 2,200 0
= 1,540
== 132
= 528
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M NEIIFW
I OISZX S(MIISK/LS - IHEL0I4)
o2l MASS ots&2l (He|: A 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
301 LertENZ 2,200 2,200 0
= 1,540
= 132
o 528
01 Al BEX2H2(2REEM) 2,200 2,200 0
OY2A IIE2E0tE &alXlZ XIJEAY
200,000 =11 2,200
= 1,540
T 132
o 528
230ts 22l 3,270,984 3,235,706 35,278
= 751,045
T 1,603,381
o 916,558
250t MEotd XA 69,120 38,890 30,230
T 13,824
= 55,2%
301 LEENZ 69,120 38,890 30,230
& 13,824
o 55,296
02 M3 EZHSGZ(HLAHS, NLWA) 69,120 0 69,120
OES0ts tHetdaordzg X
250,000&+5H +8& 10,000
= 2,000
= 8,000
OES0ts sZIHE X
108,571 +x7Hx 123 9,120
T 1,824
= 7,2%
OEs0ts NHEHBEZ KIE
10,000,000& x5 *13| 50,000
T 10,000
= 40,000
ols4 =20 956,464 1,017,710 N\61,246
= 669,525
T 86,081
= 200,858
301 YBIENZ 956,464 1,017,710 61,246
= 669,525
& 86,081
= 200,858
01 A BEXGHZ2(2REXTHA) 956,464 1,017,710 N61,246
Oots=4 =0
100,000 *797.053F * 12& 956,464
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Az 0f H(AIBISX/ES - IS
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o

0x

e

S9l:

ROl

(etel: &)

—

Ofl o HE T HDE2

2N - 2 - S2A(SH) - NEAY - Off koM

0x
I

]

669,525
86,081
200,858

oW

HT
foi
Ok
A1
o
o
=
v
1>
s,
=
o

86,400 64,800 21,600
69,120
3,45
13,824

O W

[y

301 et

=
oy

86,400 64,800 21,600
69,120
3,456
13,824

[

MO

01 M3 EEHS6IS (2 DEERTHR) 86,400 64,800 21,600

400,000 «18F « 128 86,400
69,120
3,456
13,824

HoH W

Sople=g K& 2,142,000 2,096,000 46,000
1,499,000
643,000

Mo

301 LEtEN S 2,142,000 2,096,000 46,000
1,499,000
643,000

M

02 MBI EBEH=FS(HAANS, KLMWA) 2,142,000 0 2,142,000
=0t V== 2,142,000,000& x 14 2,142,000
1,499,000
643,000

Mo

o=Es X 5,000 8,000 /3,000
4,000
300
700

oW

201 e 3,000 4,000 21,000
2,400

oW
8

420

01 AtR2telHl 2,000 3,000 21,000

=g 100,000&*x10E 13! 1,000
800

EUN R
3

OAt=2telb| 100,000& 102! 1,000
800

H
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2A:

X ZH -
S/

Jt

=
=

Ot

(AR =ER/E= - JHE
c

o4)

e

S9l:

=y
01 0 0
o = T
gy =

(etel: &)

—

SIE!
He Ofl Aot dE = HDE2

2N - 2 - S2A(SH) - NEAY - Off koM

]

A H
3

S
0
0
i)
02
o

1,000 1,000 0
83,300 * 128 1,000

©
0K
0H
HO
02
=

ST
3

301 22N = 1,000 2,000 A1,000

SR RISl
3

H2(ZDEXUH) 1,000 2,000 21,000
J

100,000& * 102 1,000

EURIY
3

307 BlIZtol S 1,000 2,000 1,000

EURCR I
3

01 =X+ =H| 1,000 2,000 1,000
OAHZLZ A AlelZAL HIE & 2ZH]

100,000& 102! 1,000
800
60
140

H H1 W

d2II891s d20ts2=Hl N 12,000 0 12,000
8,400

720
2,880

EURCRIY]

T

301 et

HI
=
oy

12,000 0 12,000
8,400

720
2,880

r

H HH

01 MBI BEHS6S(RREETHR) 12,000 0 12,000

,000,000& *1&«12& 12,000
8,400

720
2,880

HoH W

ors=A 24 636,503 715,668 AT9,165
251,112
140,288

mnoH
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2A:

WSIHED

I OS2 S(MIISX/LS - I EL0I4)
o2l Ot==X 29 (He|: A 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
= 245,103
XE0lsSHE 298 XA (=21) 102,180 390,120 A287,940
= 51,090
T 25,545
= 25,545
307 2IZ2H0IA 102,180 390, 120 A287,940
2 51,000
< 25,545
= 25,545
10 MBS XALEE S| 2 102, 180 390, 120 287,940
OXHOISHE JI=22HH| XIR(30210/4)
1,645,000& x 104 A+ 12 19,740
= 9,870
= 4,935
= 4,935
OXN<SE0otsSHEH Jl22gdl X2 (2921015)
1,580,000 x4 A% 12& 75,840
= 37,920
L= 18,960
= 18,960
O AXIYotSHE FIr2YHl X2 (30210]
at) 300,000& 1 128 3,600
=2 1,800
= 900
= 900
OYHABLNTI0ISHE FII2H X
& (29¢210l5t) 250,000 1 A 128 3,000
= 1,500
& 750
= 750
Xors4dE 298] X2 (SHI3=01) 3,384 9,936 A6,552
T 677
o 2,707
307 2I2tol A 3,384 9,936 A6,552
& 677
= 2,707
10 Al2| XA EHE2ZHIE X 3,384 9,936 N\B,552
OXSOotSHE 24| It XI&(30210]4})
846,000 * 10 L +4=2 T | 3,384
& 677
= 2,707
XHorsHE elAgl X2 (=1) 366,480 0 366,480
= 183,240
& 91,620
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2A:

WSIHED

I OS2 S(MIISX/LS - I EL0I4)
o2l Ot==X 29 (He|: A 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
= 91,620
307 2I12t01 N 366,480 0 366,480
= 183,240
T 91,620
= 91,620
10 Al SXAEHE2ZHIE X 366,480 0 366,480
OXIE0LSHIE Q12| XI&(292!018t)
5,586,000& x4 A 128 268,128
= 134,064
& 67,032
i 67,032
OXH0LsHIE 1M XI&(30210]4
8,196,000 1 12 98,352
= 49,176
& 24,583
= 24,583
K0S HE oAl X2 (=HI=01) 50,475 119,260 A6, 785
& 10,09%
i 40,380
307 2I2t01 A 50,475 119,260 A6, 785
& 10,09
i 40,380
10 AISISXAEHE2IHIEX 50,475 119,260 AB8,785
OXIHOISME 0121t %I} X
2,523, 7502 x5 A x42 D | 50,475
& 10,09
= 40,380
KOs HIE olAH] XI2 (KM= 34,620 32,400 2,220
307 212t0|1 N 34,620 32,400 2,220
10 AZISXANEHE2ZHIEX 34,620 32,400 2,220
ORAXAOISHE BALA SE+Y KA
1,357,666 *3H*23| 8,146
OYLA LT RAXA0tSHE SAA HBE
g & 1,402,500 +2H *23| 5,610
ORI X AOrsHE SALA BESY X
& 1,782,500& 2 +23| 7,130
OLUNAOISHEH SAMX BEE XA
1,651,000@ x2Z*23| 6,604
OEZH0ISHOIS XIS OtSMIE! SAMRH HE
=< XA 1,782,5002x2H*23| 7,130
MNIISXIAE SAXHOISHIH) SXI=E(Z0I) 19,800 18,000 1,800
& 3,960
i 15,840
307 BI2H0| ™ 19,800 18,000 1,800
& 3,960
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A wSItED

I OS2 S(MIISX/LS - I EL0I4)
o2l Ot==X 29 (He|: A 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
= 15,840
10 AR SXANEEHE2ZHIE X 19,800 0 19,800
OMBIZTIAIE BAX =X+ A0S
&) 65,0002 *10F * 123 19,800
T 3,960
o 15,840
XS0tsHE 28 store XXM 4,000 4,000 0
307 Q12H0| ™ 4,000 4,000 0
11 ASISXIAMSEE 4,000 0 4,000
Q=28 stote JH=l XI&
4,000,000 *12] 4,000
KHotsHE 23HHE XIS (XM= 22,000 22,000
307 2I2t0| A 22,000 22,000
11 A SXIAMEE X 22,000 22,000
OR0OHOR! XIYotsHE K&
2,000,000& x23| 4,000
QR4 X0otsSHE K&
3,000,000& 23| 6,000
QL XAOtSHE XA
2,000,000 23| 4,000
OUMALR2A X|H0tSHE XA
2,000,000 *23| 4,000
OZ22H0/8t0tS XS 0otsHE K&
2,000,000&*23| 4,000
CletlEsdH 29 XIJ 33,564 0 33,564
= 16,782
& 8,391
= 8,391
307 2I2tol A 33,564 0 33,564
= 16,782
= 8,391
= 8,391
10 ASISXANEHE2SHIE X 33,564 0 33,564
OUigt =S 22| 1,000,000 x4 & 4,000
= 2,000
& 1,000
= 1,000
OLiatH=s 21|
3,695,500 2«4 29,564
= 14,782
& 7,391
= 7,391
HAE B8 Y SH(AEEX]/E2 - HAd) 275,518 263,060 12,458
= 12,000
Dl 2,400
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2 DEIIED
M HAE HS L SH(AMSSX/E0l - HAY)
e Al AW |4 =ESED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
oZ=zY 2 S0l 2% Paw
30,000& %302 900
HAES02| K 12,500 12,500 0
= 5,000
° 1,500
= 6,000
201 LBt AH| 10,500 10,500 0
= 4,200
& 1,260
= 5,040
01 AF222lbI 8,500 8,500 0
oOs0I2I2Y =4
850,000& x10J1 = 0t 2l 8,500
= 3,400
= 1,020
= 4,080
03 SHAF2HEHI 2,000 2,000 0
OS0tel#AL 248l
200,000 *10JH SOt 2,000
= 800
= 240
= 960
301 Lete N2 2,000 2,000 0
= 800
= 240
= 960
11 SHAFAHI X2 2,000 2,000 0
OS0telgiA & NFKEILAL 24t
200,000& *10J4 =0t 2,000
= 800
= 240
= 960
HauE HAXH 14,000 8,540 5,460
= 7,000
& 1,400
= 5,600
301 Y8 XS 14,000 8,540 5,460
= 7,000
& 1,400
= 5,600
01 AIBIBE M LHZS(ZDEXTHE) 14,000 8,540 5,460
OMAS HHHEAYE MEE X
140,000 *100H 14,000
= 7,000
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2N NRIISY
B HAE PS5 U SH(ASIST/ 0 - HAE)
=9 FAad 28 NS EERSED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
Dl 600
= 600
01 AF222lH| 1,200 1,200 0
0FAUSHRNE 2Y BF PY
120,000 % 10| 1,200
Dl 600
= 600
301 Yete ™2 800 800 0
J| 400
- 400
11 #HAFAHIXIR 2 800 800 0
omsu2eEsIAs SAY
8,000 +20H +53| 800
J| 400
= 400
HAE 4R s d S5 2,000 2,000
202 o4H] 2,000 2,000
01 2LH0H] 2,000 2,000
OEAE A2 FHOI)
100,000 x2¥ % 10&] 2,000
SSEAELEALE T2 29 2,000 2,000
201 LBt AH| 2,000 2,000
01 At 22lH| 2,000 2,000
oZzded M=l 200,000& * 103 2,000
TR 22X SR (ARIEX/FILHSKH) 9,337,123 9,534,311 A 197,188
= 5,056,860
T 823,853
= 3,456,410
ZHOHOl MEord XI& 1,489,417 1,549,467 60,050
= 1,017,685
& 171,026
= 300,706
eIz 2HXS 1,156,352 1,324,906 168,554
= 809,446
& 104,072
= 242,834
301 Lertg N2 1,156,352 1,324,906 AN168,554
= 809,446
& 104,072
= 242,834
01 AFSERELHS(2DEXTM) 1,156,352 1,324,906 A\ 168,554
O&HeIHZ XK= 1,156,352,000 & * 14 1,156,352
= 809,446
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2A: DEIIEDL
HE: ZOHQ! SX S (ARSI /FLASKIE)
= Zojel Moty X EERSED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
= 104,072
= 242,834
HOEE(OIx) XS 189,968 98,983 90,985
= 132,978
= 39,893
= 17,097
301 Y2z 189,968 98,983 90,985
= 132,978
T 39,893
= 17,097
01 A 2&NHZ2(2REEMR) 189,968 98,983 90,985
OFMAE (1) X2
189,968,000 & 14! 189,968
= 132,978
T 39,893
o 17,097
= (IHARAS) X2 106,517 94,368 12,149
= 74,561
= 22,369
i 9,587
301 Y2 M= 106,517 9,368 12,149
= 74,561
& 22,369
= 9,587
01 Al 2&X2HZ2(FREEM) 106,517 9,368 12,149
OFM+=2(XAHS) K&
106,517,000 14 106,517
= 74,561
& 22,369
= 9,587
ZOHCl J|=ME S AR 23,160 17,700 5,460
& 4,632
= 18,528
307 21201 ™ 23,160 17,700 5,460
T 4,632
= 18,528
01 =24+ =H| 3,000 3,300 A300
OOl A& XA
100,000& *20H 2,000
& 400
= 1,600
OO HIZH S&FF 2Hl XA
100,000& = 10H 1,000
& 200
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M NEIIFW
HE: ZOHQ! SX S (ARSI /FLASKIE)
el ZoHe! MEoty X (St M)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
= 800
11 A SXIAMEE R 20,160 14,400 5,760
OF ool 2224 X2
112,000 x15F 122 20,160
T 4,032
= 16,128
ZoHe! |IXIFERD| KIH 8,262 8,352 AD
301 LetENZ 8,262 8,352 A
01 Al BE X262 (2REEAT) 8,262 8,352 AN
Q&L |IXIFHRI| 0182 K&
25,500 +27F * 123 8,262
HAS =0T 224 01823 A 4,158 4,158
301 LEtENZ 4,158 4,158
01 Al BENSHZ2(2REEM) 4,158 4,158
ORASEOIIIT REYS 01822 X
9,900 *x35H * 123 4,158
&zl EatdHlE XI& 1,000 1,000 0
= 700
& 60
= 240
301 YLtENZ 1,000 1,000 0
= 700
= 60
o 240
01 Al B& A2 (2REETE) 1,000 1,000 0
OW&ZEel SaHlE XIJ
1,000,000 *1 1,000
= 700
T 60
= 240
ool 2 =H| XA 30,950 34,532 A3,582
= 24,637
= 4,002
= 2,311
EXRIFUR 3,148 2,725 423
= 2,519
& 126
o 503
307 212H0| ™ 3,148 2,725 423
= 2,519
& 126
= 503
01 =22zl 3,148 2,725 423
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2A: DEIIEDL
Mz &Rl X ST (AIBEX/FHAHESKIE)
&2l AoHCl oZH|l K& CERED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
I EIEESERE
314,800 *10H 3,148
= 2,519
& 126
= 503
HO0HCIC|=H| XIS 27,383 31,357 A3,969
= 21,911
= 3,834
= 1,643
307 21201 A 27,388 31,357 3,969
= 21,911
= 3,834
= 1,643
05 QI2tRIEZ 27,388 31,357 A3,969
O&oHeIel=H| K&
6,847,000 4= 27,383
= 21,911
& 3,834
= 1,643
MASHEOC! REH| L 2 AHH| K& 414 450 N36
= 207
= 12
= 165
307 21201 A 414 450 N6
= 207
= 42
= 165
IEEEEET 414 450 A6
ORASHMO! X X A X
41,4002 *x10H 414
= 207
= iy
= 165
ZOHC AtSIE S KR 331,931 292,781 39,150
= 158,750
= 39,563
= 133,618
SHoHel Lets 2 Xtel 283,343 246,538 41,805
= 144,172
= 28,834
= 115,337
101 2121H] 288,343 246,538 41,805
= 144172
= 28,834
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2A: DEIIEDL
HE: ZOHQ! SX S (ARSI /FLASKIE)
ol AR AtSEE X CERED
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
= 115,337
M IIRHHZ2Z2XSEs 288,343 246,538 41,805
OZFoHe! Lerd 2dXtel XA
2,402,858 x10B * 123 288,343
= 144,172
= 28,834
= 115,337
ZHOHQI L XI2I (AIZEZHOHQ! OFOFAF IIF2A ) ALY 18,223 17,450 773
= 14,578
= 729
= 2,916
307 2I2H01 N 18,223 17,450 773
= 14,578
T 729
= 2,916
05 eIIREZ 18,223 17,450 773
OFOHIUXICI (AIZEZOHO! QHOFAL TF2A) A
& 1,518,583 x1H + 12& 18,223
= 14,578
= 729
= 2,916
ZOHel MEHO| HS 4,565 4,565
201 Ler2gy| 4,565 4,565
01 At 2teldl 4,565 4,565
OFOHRISX AlFAIM ARELH(HT}, S
at) 337,500 43 1,350
OO BoZH LRHIXES 72
121,500 %105 1,215
O OHCIXt S EXI w1
2,000 *1,0000H 2,000
ol nE=EXEAZ KA 20,000 23,328 A3,328
T 10,000
o 10,000
301 LEtENF 20,000 23,328 A3,328
& 10,000
= 10,000
01 Al 2&A2EZ2(2REEMR) 20,000 23,328 AN\3,328
OFel nEFXHZ K&
6,666,666% *3H 20,000
& 10,000
= 10,000
ZOHC! AtSI & ESKIR 800 900 A100
202 O4H| 800 900 A100
01 =LHOIBI 800 900 A100
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2A: DEIIEDL
Mz &Rl X ST (AIBEX/FHAHESKIE)
Sl A AlSIZES XA CERED
S - HE - SR(BI) - MISAIY - BAS Ofl vl e MimE=T,
OO =X AP =& OfH|
100,000 2 %43| 800
SOOI HOAIE 29 193, 138 147,976 45,162
& 43,644
= 149,4%4
ZHOHO! 2 45t 7,800 0 7,800
= 1,560
= 6,240
201 LBt AH| 7,800 0 7,800
T 1,560
= 6,240
01 AF2222|Hl 7,800 0 7,800
oFe! d2R=sE XA
5,000&*130H 122 7,800
& 1,560
= 6,240
ZHOHO! HOIAIE &= 135,178 123,976 11,202
= 27,036
o 108, 142
307 2I12+0| A 135,178 123,976 11,202
= 27,036
= 108, 142
10 Al SXAIEEHESIHIE X 52,810 43,301 9,509
O AOHOI HOAILXIRAHE S|
52,810,000 =101 A~ 52,810
& 10,562
= 42,248
11 AISIE XA E X 82,368 80,675 1,693
OX0HO!l SEAEA 2HH|
82,368,000 =101 A~ 82,368
T 16,474
= 65,8%4
ZHOHQITHOIAIE HM =R AF(Q124H]) 14,160 0 14,160
& 4,248
= 9,912
101 21214 14,160 0 14,160
= 4,248
= 9,912
M IIREMZ2ZEXNsSES 14,160 0 14,160
OXE=RAIRA o1AHHl XI=
7,080,000 %2 14,160
= 4,243
= 9,912
A2 QZ2HAIE H24 e 36,000 24,000 12,000
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2A:
I‘I ZH
C,l»ol :

N/FHAANENE)

fa
Ol
™
;
JH

(etel: &)

2A-F3H-H2(3) - MRAY - BES

Ofl ot

rS[El=
PET

—

HwS2!

Mo

10,800
25,200

N
8
e
s
a
i
2
[pal

M

36,000
10,800
25,200

24,000

12,000

4,000,000 *9IH 2

M

36,000

36,000
10,800
25,200

24,000

12,000

ZOoHel SXAE X2

HH W

7,291,687
3,855,788

565,618
2,870,281

7,509,555

A217,868

FHA=SXAIE SA SKI+=E

A

156,000
31,200
124,800

189,600

3,600

307 212+0l

A

156,000
31,200
124,800

159,600

A3,600

11 AISISXIAIE E X

OZOMAUSXAIE SALA SX=E
168,536 x82& 1204

A

156,000

156,000
31,200
124,800

159,600

A3,600

ABIS XD 2H(F0HR!) SAL MRME =5 X

M H

14,400
2,880
11,520

10,800

3,600

307 glzto| &

A H

14,400
2,880
11,520

10,800

3,600

11 AIEISXIAIE E X

OMEI=XD|2H(Z0HR) BALKL MM =
g & 150,000& x8ZH 1201 &

M

14,400

14,400
2,880
11,520

10,800

3,600

EUR I

3,115,166
2,180,616
186,910
747,640

3,381,079

A265,913

307 gizto|

HoHnH

3,115,166
2,180,616
186,910
747,640

3,381,079

N265,913
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2N NRIISY
Mz &Rl X ST (AIBEX/FHAHESKIE)
S HoHel SXIAIE K& CERED
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
T EENNEEEEETEES 3,115,166 3,381,079 265,913
OFLI20IE 2| X8
3,115,166,000& x 1 A~ 3,115,166
= 2,180,616
= 186,910
= 747,640
ORI HTAIE MAZO 300,000 280,000 20,000
= 240,000
& 30,000
= 30,000
301 LetE X = 300,000 280,000 20,000
= 240,000
& 30,000
= 30,000
01 AIBIEE XM AHS(2ZDEXTHY) 300,000 280,000 20,000
OBULINEAIL HH S0
300,000,000 * 14! 300,000
= 240,000
== 30,000
= 30,000
NI HF=AIE SEXS(HI) 24,360 24,360 0
= 4,872
= 19,483
307 2I12+0| A 24,360 24,360 0
& 4,872
= 19,488
11 AISIZ2XAIEE X 24,360 24,360 0
OFONIHFAIE HEol=d XA
2,030,000& x 18+ 1201 & 24,360
= 4,872
= 19,488
NI HFAIE 29 XIS (XA 39,000 39,000
307 21201 A 39,000 39,000
10 AISISXAEEHESIHIB X 39,000 39,000
OZOHCIHFAIE 2 KIS (KA
9,750,000&*1H A x4 D 39,000
ORI HFAIE ZOIEAED| e X 3,041 6,300 N3,259
= 1,825
= 243
= 973
402 RI2EX=01 S 3,041 6,300 N3,259
= 1,825
= 243
= 973
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M NEIIFW
HE: MOHO! SK SE(MEI=R/FLHEX)
o2l HoHe! SXIAIE XA CERED
SA - BE - BRI(SH) - A - BAS Ol ko4 e HimE=]
02 QIZEXH2 A E X (01E THEA) 3,041 6,300 A3,259
OFMUNFAIE SIIBEHD| HEXH
3,041,000& %100 2 3,041
= 1,825
T 243
= 973
ZOHAIHFAIE JISEZAL (XHA) 79,784 79,784
402 QIERHE0|1 79,784 79,784
01 QIZEXH2AFE 2 2 (REMIRHR ) 79,784 79,784
OFOHANFAIL RtHFL
65,000,000 *1CH 65,000
OFMLINFAE ==FH| SA
14,784,000& * 14! 14,784
ol MNATNEANSE 2F(BSEHGE) 220,854 209,516 11,338
307 glZtol s 220,854 209,516 11,338
05 B2t 220,854 209,516 11,338
OO BESHAT Q2iH|
40,124, 750311 & x42 D | 160,49
OBMe BEAUF 2|
15,088, 750& 10 2+42 | 60,355
Ol HATWEASE 2L (H U2 9H) 307,877 307,877
307 2I2t01N 307,877 307,877
10 AFRISXANEHE2IHIER 307,877 307,877
OFC2 L oAl XA
67,921,2503* 1 2+42 | 271,685
OFL=2 2H 234l XA
9,048,0002 * 14 A *4=2 D | 36,19
ZOHAXMATHEAE JISEDALY 259,294 0 259,294
= 129,647
= 129,647
402 QIZEXH=01 A 259,294 0 259,294
= 129,647
= 129,647
02 QI AH2AIE 2R (OIMTHE) 259,294 0 259,294
OHLI2YLH Motd gtas st FR0t2]
JIAH - 259,294,000 14 259,294
= 129,647
o= 129,647
HOHQIAHTHEAE JIsSEZAL (KHA) 34,455 12,000 22,455
405 KHAHE SHI 34,455 9,000 25,455
01 AL ESFSHI 34,455 9,000 25,455
O BSHAT JsEB2(XHSTFL)AY
34,455,000 & 1CH 34,455
iRl MEQISKIRMEH 22 XA 196,9%4 196,994
307 glZtol M 196,994 196,994
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2A:
R
=Taan

S9l:

DRIEW
Aol EX SE(AZS X /FLASIH)
el 2XAIE XA

(etel: &)

S - BB - SIS - HRMY - BES Ol &t e HIDS2
10 M SXAEHE 22X 196,994 196,994 0
OFOHQ MEOISXHHE lAH] K&
45,006, 2503 x 11 A %42 D | 180,025
OFOHQ! MEO0ISXHHE 2| K&
4,242, 2503 1 2+42 | 16,969
=UESHYH 29 K& 210,210 210,210
307 glzto| ™ 210,210 210,210
10 AlZISXIANEEE2EHIEX 210,210 210,210
Ox=0|Sue 1Al K&
46,682, 2503 x 1 %42 0| 186,729
O SHe 244l XIA
5,268, 2503 * 1 242 0| 21,073
O+ SYHHIE Al X
2,408,000 13! 2,408
ol F2UHESHEH 29 N2 233,297 233,297
307 glzHol ™ 233,297 233,297
10 AFRISXANEEE2EBIEX 233,297 233,297
QXIS S HIE 2124 XI&
54,324, 2503 1 242D 217,297
OFFUESHE 2l XI&
4,000,000& * 1 A+42 0| 16,000
RGASI THEAIE (ZOHQF2HESHIE) JISE2 Al 110,000 0 110,000
= 55,000
= 55,000
402 21 XHE01 ™ 110,000 0 110,000
= 55,000
= 55,000
02 DIZHAHE AL 2 (01X THA) 110,000 0 110,000
OZMAUFAESAIE JISEZAS
110,000, 000& * 14! 110,000
= 55,000
= 55,000
HOHQ! HEXIAHEH 2 45,435 40,437 4,998
= 9,087
= 36,348
307 21201 45,435 40,437 4,998
= 9,087
= 36,348
11 AFZISXIAE 2 X 45,435 40,437 4,998
OAIZEMS TUHHXHEH 22
45,435,000 104 2~ 45,435
= 9,087
= 36,348
NHEZFOHC! XXM 2 113,923 100,923 13,000
307 220N 113,923 100,923 13,000
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fA:

X ZH -
S/

DRIEW
Aol EX SE(AZS X /FLASIH)

S HoHel SXIAIE K& CERED
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
I EES N EEEETEES 113,923 100,923 3,000
OXIHZOHR! XY XIRHE oI21H]
18,019,500& * 1IN A *4F | 72,078
OXNI =R XA RAHE 25|
7,211, 2503 * 1 %42 D 28,845
OXNEEOHC! K& AIME AHBI
6,500,000 *23] 13,000
ZHOHOIL X2 X2 (AIZERIL XE2]) 72,103 55,181 16,922
= 36,052
& 7,210
= 28,841
101 @124d| 72,103 55, 181 16,922
= 36,052
= 7,210
= 28,841
M IIHZ2ERNEES 72,103 55, 181 16,922
O&OH!l AZERIL Al XI&
1,201,716 x5+ 122 72,103
= 36,052
T 7,210
= 28,841
ZHoHel SXILXtel K& 80,988 77,281 3,707
= 40,49
== 8,099
= 32,3%
307 21201 A 80,988 77,281 3,707
= 40,494
T 8,099
= 32,3%
05 QI2tREZ 80,988 77,281 3,707
OQZoHe!l EXILXte] X
562,4162 128 x 12& 80,988
= 40,494
&= 8,099
= 32,3%
ZHOHQl X130 X 1,225,887 1,286,034 AB0, 147
= 858,121
& 73,553
= 294,213
307 21201 A 1,225,887 1,286,034 N60, 147
= 858, 121
= 73,553
= 294,213
05 QI2HREZ2 1,225,887 1,286,034 A60, 147
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2A: DEIIED
3 HoHel =X ST(MESX/FHAHEXH)
chel: ZoHel SXIAIE XIE CEREED)
SN - HE - SRIEH) - HRAY - B Ol ary e HIDE2
EERESEERE
2,084,841 x40« 123 1,225,887
= 858,121
= 73,553
[ 204,213
28X JRrtsE: 9,066 1,429 7,637
= 6,346
S 544
= 2,176
307 glzto| & 9,066 1,429 7,637
= 6,346
s 544
[ 2,176
05 2SS 9,066 1,429 7,637
OZsExX JHtEN 4,533,000& «2&H 9,065
= 6,346
= 544
= 2,176
LETHEAEIA HIRH X 60,000 62,640 N2,640
= 42,000
S 3,600
= 14,400
307 giz2to| 60,000 62,640 2,640
= 42,000
LS 3,600
= 14,400
05 2I2tAE 3 60,000 62,640 N\2,640
CYLEMEAMEIA HIRH X2
200,000 «258 * 123 60,000
= 42,000
= 3,600
= 14,400
2EH F2HESHUIA KR 379,553 269,730 109,823
= 265,687
s 22,773
i 91,093
307 212+0l A 379,553 269,730 109,823
= 265,687
S 22,773
= 91,093
05 RIS S 379,553 269,730 109,823
OHTTUY FARSAHIA X
2,108,627 2«15 * 122 379,553
= 265,687
343~




2A:
I‘I ZH
C,l»ol :

Dol
BQHol

WIS

ot
SX ST(A
SXAE X2

SISX/HAAHNSKH)

(etel: &)

2 -

3 - S2A(3H) - MRAY - BES

Ofl ot

rS[El=
PET

—

HwS2!

Mo

22,773
91,093

02

H2ZH(NSIIE

) (O1EH/DIEY)

(=YY

S

A

901,020
213,671
29,200
33,644
54,650
569,855

670,518

230,502

oW

S~

Mo

820,696
213,671
29,200
33,644
54,650
489,531

221,816

re
Jy
HO

B
Jo
9
i
=J

141,408

145,722

A4,314

2

oo
|
o

x| —

141,408

145,722

N4,314

01

©)

©

©

©)

B
1

3
)
_|

1A

b
0
I

0
5%
0

02
IS
m
4
[~
e
W

w 0

0%t
b
i
1
[~
w
0H
10
A
0l
RS

0
0=
o
e
i
o

10
B
=

10,9523 16 *480A1 2¢

T
0k
.=
B
4>
o

r §[|Ll

%* Al

26123

0

24
100, 00024 #5452
les) Alztelag

3,2868 * 150%b Al 2Hx 1B« 123

o
M0

84,112
84,112
57,2%

33,600

22,500

1,1%

88,463

57,259

N\4,351

37

=

0
x
i
]
0
MO
02
©
v
=

1
)

HoH W

139,824
69,912
13,982
55,930

131,040

8,784

HoH W

139,824
69,912
13,982
55,930

119,340

20,484

2,300,000 x4Z*10&

oW

140,0003 x4« 128

HoHH

110,000 x4« 12&

139,824
139,824
92,000
46,000
9,200
36,800
6.720
3,360
672
2,688
5,280

119,340

20,484
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2A: DEIIED
Mz HHSHAH(WSII=) (OIEHIIE L
E;I: ag%%ul(ﬂajréﬂr) (9 M)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
= 2,640
== 528
= 2,112
OB 60,0002 *4H * 122 2,880
= 1,440
& 283
= 1,152
OJE==E 110,000 x4 * 122 5,280
= 2,640
< 528
2 2,112
OFASAHI(X M AH) 40, (DS 23 6,720
= 3,360
= 672
= 2,688
Oogs&| 100,000 x4 * 122 4,800
= 2,400
T 480
= 1,920
Og &= 100,000& x1H + 12 1,200
= 600
= 120
= 480
OY&E=IHI 2,300,000 *4 S «60% 5,520
= 2,760
& 552
= 2,208
(OFSFmr= 2,356,000& *x4H 9,424
= 4,712
== 942
= 3,770
MAE XIE2H(QIHH])(ZHIEXR) 4,080 4,080 0
= 2,040
= 2,040
101 2121H| 4,080 4,080 0
T 2,040
o 2,040
03 2RI (RI|HH) 222 4,080 4,080 0
ol EIXI XIS AC}H
OARAL B8 AT 100,000 128 1,200
& 600
= 600
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2A: DEIIED
. HESAHUI(WSIEEW) (OIEHIIE
o2l ClERAY|(NS|IIED) CERED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
OMYHE BN MHABS =2
30,0003 x8H * 12& 2,880
& 1,440
= 1,440
MYHE X2 (12481) (XHAl) 75,100 72,825 2,275
101 el24d| 51,700 68,925 A17,225
03 SR (RINAH) 22X 51,700 68,925 AT17,225
OMIHIE &AL 2124H| 51,700
Olel(FehagA =2
2,300,000 5 H *3& 34,500
OFAHZ A 140,000&*5H +3& 2,100
oM=Ly 00,0002 52432 1,500
OAIRtel &g
13,5002 x5 *80A| 2+x150% 8,100
OGItE A 110,0002 x5 10 5,500
M HSRE=S 23,400 3,900 19,500
04 BRN(LIAHH)2ZEN BHERLS S 23,400 780 22,620
CERII=EWNEEISE
140,0002 x5+ 12& 8,400
OALEH MiE 2D
140,000 x5H x 123 8,400
ODE.AMEH AT 2H
110,0002 x5 = 12& 6,600
FEUEHSFHL X (21 HH]) 33,644 33,231 413
Dl 33,644
101 el24y| 33,644 29,331 4,313
D) 33,644
03 SR (RIAX)2ZNE= 33,644 29,331 4,313
OASAS AL 2124H| 33,644
OoJl12= 2,300,0002 1+ 112 25,300
J| 25,300
OARsLE 140,0002 = 1= 12& 1,680
D) 1,680
O&dd=g 110,000 x1F+ 122 1,320
| 1,320
Ogla==g 60,0002« 18+ 12& 720
| 720
O&MZ A 140,000 1B+ 122 1,680
J| 1,680
Og=23H| 100,000 x1H *12& 1,200
| 1,200
OYE IOt 1,744,0002«1H*13| 1,744
Dl 1,744
CRAEIE SEANdI22(2124H]) 65,200 64,000 1,200
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2A: DEIIED
A HMSAAG(WEIFE=ED) (JIEHIIE}
TR QIERHY(WSIISD) (9 M)
DA EH B (BH) - MRAY - BAS Ofl vl e MimE=T,
= 52,160
== 3,912
= 9,128
101 @121t 65,200 64,000 1,200
= 52,160
& 3,912
= 9,128
03 BRA(LINHL) 22X %= 65,200 64,000 1,200
OO0tSSEAtIZ2IAF 2124| 65,200
oJle= 2,400,000 x2H 122 57,600
= 46,080
& 3,456
= 8,064
OXMZAlH| 140,000 *2H x 102 2,800
= 2,240
& 168
= 392
Opliay 60, 00021%224x 122 1,440
= 1,152
= 86
= 202
OxRE 140,000 x2H x 12 3,360
= 2,688
= 202
= 470
CEAEIE SstARIZ2I(Q1HH]) (RERIZ=DH 50,004 50,611 AB07
101 Q124H]| 35,530 39,202 N3,672
03 BLRA(RIHX) 22 XE 4 35,530 39,202 N3,672
OAIZI =S (XA
20,0003 *150%* 180 Al 22 10,800
OFLZ22EY (XA
150,000 * 150%x2 H x5 2,250
OYESIIHI (KA
2,200,0003 x2H*23] 8,800
OXF2 =S XHAMI) 50,0003 x2H x 122 1,200
QHFMIAIL| (XA 140,000 2 H x2& 560
OZeHA =S (XA 110,000 x2& x 12& 2,640
QIELZ(XHA) 40,0002 x1Y*12& 480
OHII2ABI(XHA) 200,000 x2H %10 4,000
OFHIZLZ(XHA) 2,400,000 x2H 4,800
04 AZ2RE3S 14,474 11,409 3,065
M BREA(PINHS) 22X 282842 S 14,474 3,113 11,361
O=201HZ2(XHAI) 120,000,000 *4. 5% 5,400
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2A: DEIIED
A HMSAAG(WEIFE=ED) (JIEHIIE}
Gl QIER2HH|(NEIIE) CERED)
DA EH B (BH) - MRAY - BAS Ofl vl e MimE=T,
CEEEETRE) 120,000, 0002443, 545% 4,254
OFIILYZE (XHH)
7,000,000 *13. 14% 920
oDEEE (XHA) 120,000,000 *1.75% 2,100
OATHEE (KHAI) 1,800,000 14 1,800
OtS=E X WAHKIZAISIZ XA C14H] XIS 28,814 24,164 4,650
= 14,406
& 7,204
= 7,204
101 @124d| 28,814 24,164 4,650
= 14,406
= 7,204
= 7,204
03 BRA(PIAHX) 22X E 4 28,814 24,164 4,650
OO0tS= X WAL 1| K& 28,814
oJlzas 2,401, 1662 x 128 x1H 28,814
= 14,406
= 7,204
= 7,204
OlsSZE X WAH XIS AISIZXIAL) 18I (XHA) 17,700 21,136 N3,436
101 Q124H]| 12,900 13,583 ABB83
03 BRI (IAHA) 22 e+ 12,900 13,583 A683
OO0tS= X WAL 14| X 12,900
O =S XHAI) 1,150,000 x1H 2 & 2,300
O =) (K1)
1,380,000& x1H*2& 2,760
OHMZAIH|(KEAI)
140,000 x1Gx 12& 1,680
O 4SH(XHA) 140,000 x1& x 128 1,680
OZtHAL=SH(XHA) 110,000 x1Gx 12& 1,320
OXF2= =S XHAI) 50,0002 x1H 128 600
OIEL=SH(XHAMI) 60,0003 *1H*12& 720
GLFEES={O\¥: )| 60,0002 x1H 122 720
OAHIIL A (KFAI)
112,000& *1¥* 10 1,120
34 HAZ2RE2ES 4,800 6,653 N1,853
M4 B2 (RINHL) 22X BESRH2 S 4,800 1,229 3,571
O=01H22EZ2(D12) (XHA)
164,250& x 19+ 12& 1,971
OAHUBHZ(J2) (XA
139,0003 x1E+12& 1,668
D82 (012 (XH)
54,7503« 18 x 122 657
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2N NRIISY
MB: BN 2AAL(RSIE]) OIEHIIE
Gl QIER2HH|(NEIIE) CERED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
OMTHEE 2 (D12) (KHAI)
42,0003 x1Hx12& 504
OIS EXIWAHOISHIEH) 21| X 102,225 0 102,225
= 51,113
= 25,556
= 25,556
101 124d| 102,225 0 102,225
= 51,113
& 25,556
= 25,556
03 2L (PIHA) 22 RHE 102,225 0 102,225
OOLE=TTAF O124H| X2
1,419, 7912 x6H 122 102,225
= 51,113
= 25,556
= 25,556
Ol=E X WAHOISHIE) 124d] XIK (XHAI) 41,180 41,180
101 124d| 30,140 30, 140
03 2L (RIHX) 22 X2 30, 140 30, 140
OYESIHI 79,000 x4H*23| 6,392
(OFSF=E=y 416,000& x4 H 23| 3,328
OFHZAM| 140,000 x4H x 12& 6,720
(OFSEEEI=y 87,5003 *4H * 122 4,200
(OFSf=ES=, 68,7502 x4« 122 3,300
OO0+ 37,5002 *4H * 122 1,800
(OPIEES=, 100,000 x2H x 12 2,400
OGEHIIE AHH| 100,000 *4 & +5! 2,000
34 H2RE3S 11,040 11,040
M 22X (RIHF) 22N 282842 S 11,040 11,040
O=0IAZ2ESHZ(J|H)
65,0003 *4F x 12 3,120
OAATE BEE (D)
82,0003 x4H x 122 3,936
0O1NEEE BEI(JI1H)
62,0003 *x4H x 122 2,976
ONTHEE BEZ (012
21,000 *4H x 12& 1,008
OtsSESdEA o124H] 32,600 31,900 700
= 26,080
= 1,956
= 4,564
101 2121H| 32,600 31,900 700
= 26,080
== 1,956
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2A: DEIIED
A HMSAAG(WEIFE=ED) (JIEHIIE}
TR QIERHY(WSIISD) (9 M)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
= 4,564
03 22X (RI|HA)2ZNE S 32,600 31,900 700
O0ISESHERA 2l1AH| 32,600
oJlea 2,500,0002 18+ 128 30,000
= 24,000
= 1,800
= 4,200
Odz2¢ 1,300,000 x1H*23] 2,600
= 2,080
o 156
= 364
OlSEaXERE QIAHH(XHAl) 19,617 20,171 AB54
101 Q124H] 14,126 14,999 AB73
03 BLRLA(RIHX) 22X B4 14,126 14,999 A873
OAIZI =S (XA
15,0002 x150%* 15A| 2H+ 1H « 12& 4,050
OYES I (XA 1,447 ,860& 23] 2,8%
OFHZAIH[(XFAI) 140,0003 x1Ex 12& 1,680
(OESE=ES=JO\: [} 140,000& x 19 * 122 1,680
OZ=eA4=SH(XHA) 110,000 x1H x 12& 1,320
ORI =S XA 60,0002 x1H 122 720
OXF24=SH(XHAMI) 50,0003 x1Hx12& 600
OIS AHHI (KA 118,0002 x 18 x 10 1,180
M HAZRE2S 5,491 5,172 319
M 22X (RIHA)ZZ2XN 22 = 5,491 1,418 4,073
OXTHEE (KHAI) 697, 500& * 14 698
O=8IHAS(XHA) 46,500,000 *4 . 5% 2,093
ONEBE (XA 46,500,000& *1.75% 814
OAHUEE (XHAMI) 46,500 ,000& *3.545% 1,649
OFIIQUBE (XA
1,800,000& *13. 14% 237
A2l EEMADINE (Sl 220 22 AL (RERIZ=DF) 32,800 32,800
101 Q1244| 32,800 32,800
03 BRA(RINHL)2ZRE 4 32,800 32,800
022 = 22| AHCREMIZO) 32,800
oJ1aas 1,396,750 x 125 16,761
(OFSFera= 1,218,615&*23] 2,438
OHESIIHI 1,462,338& 23] 2,925
O MZAH| 140,000 *123] 1,680
OxRE 140,000& * 123/ 1,680
(OFS=Ea=, 110,000 x123] 1,320
Oola=& 60,000& *123] 720
OX=Z= G 50,0002 % 123] 600

-350-




M NEIIFW
Do WHSHAH(DSINS)OIEIIE)
&P olE2AH(nSIIEL) CERED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
OE=g 120,000 123 1,440
OHIIE2 AHH| 118,020& %153 1,771
O2023E s&a Aaiaz
35,875,000& *4.081% 1,465
Arfl 22| 2R (2 EsS02el AN (BX) 36,500 0 36,500
ax 29,200
o 7,300
101 el24d] 23,590 0 23,590
s 18,872
= 4,718
03 SR (RIAHL) 22X E 5 23,590 0 23,590
02 23HHIAHERX) 23,590
OJ12= 1,460,0002 1 *12& 17,520
= 14,016
= 3,504
OAlIZtel=Y
20,0002 1H*10A| 2++ 12 2,400
ras 1,920
i 480
OduLaz 3,670,000 14 3,670
ax 2,936
= 734
M HSRESS 12,910 0 12,910
fax 10,328
= 2,582
4 SPE(PIAHS) 22X BEHESRH2 S 12,910 0 12,910
02 =230 Z2AF RLHS(AIEXRER)
320,000&x1H* 123 3,840
= 3,072
= 768
O2AZ SN ZCIAL BRIAHUEE (AEXNRE
2) 320,0002x1H* 123 3,840
iy 3,072
= 7638
O2AZZ20&2IAL DSATNEE (ALY
3) 160,000 x1H * 123 1,920
= 1,536
= 3834
Oz H&CIA EIEEE S
3,310,000 * 14 3,310
ax 2,648
o 662
Jl2dul(n=sIt=0h 80,324 71,638 8,686
Jl2dul(nsiE) 80,324 71,638 8,686
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A wSItED

mo: MRS o AL (WRIIED)(OIEHIIE)
gl J12Z0(RSIE) (EERED
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
201 YEr2AHH| 44,244 31,658 12,586
01 At222| 8| 44,244 31,658 12,586
Ogt==2H| 15,870,000 & * 1A 15,870
O2ELT (LY 14,430, 0002 % 14] 14,430
O=&H| 6,144,000 * 14 6,144
Otz 6,000,000 x 14! 6,000
OnEIIIFY SF& II=H| 1,800
OHAUAHD HAEXCAN D=
300,000& *3H 900
O0l=sEsdER2A O]
300,000 x1H 300
OO0tSSEAtIZ2IAN TI=H|
300,000& x2H 600
202 o4b] 28,800 35,000 6,200
01 2LH0Y| 28,800 35,000 6,200
OLYR=& J|E20 | 16,900,000 & 14! 16,900
O3F% 0t 11,900
OFAESHAZ HAEXITAF (4]
150,000 *x3Z +103] 4,500
OOl=ESsNE A (]
200,000 x1H %123 2,400
OO0tSESE At Z2IAF 0]
200,000 x2H*123] 4,800
OBMBIAT(HIZ2H) 2 0|
50,0003 *1H *43| 200
208 PR F=EIH| 7,280 4,980 2,300
03 AMBHFXARFXIH| 2,000 0 2,000
OAHSRFA| 2,000,000 =14 2,000
04 EA2HLRFE| 5,280 4,980 300
ORMBYERF=&H| 440,000& 128 5,280
N EEE S ES N pTE SYE=ET) 750,007 511,467 238,690
HEHeH XIS (WSIIE 315,000 49,000 266,000
UHEHHXIZ 315,000 49,000 266,000
02012882 315,000 49,000 266,000
01 JI2N=E=2 315,000 49,000 266,000
OB |2 ME=2
55,000,000 *14] 55,000
QFMMI=XDI2S HEZS
260,000,000& * 14! 260,000
WEHHXI= 435,097 462,467 N27,370
CIEEI=T0:pl= 1 PSE-= 435,097 462,467 N27,370
701 JIEFEIHSEE= 435,097 462,467 N27,370
01 JIEFIHNES 435,097 462,467 N27,370
QozZ2ulI=2(5)EE=2
435,097,000& x 14 435,097
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